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Select the related word / letters / numbers from the given alternatives:
faT TTT fereheq © Heiferd 2req / 378 / &l T:

Demographer People Philatelist : ?

\

SRS AT & fhoteriore: ?
(A) Fossils IEﬁT:IT?Er

(B) Stamps/ﬁ%‘?

(C) Photography / SIETUTHT

(D) Music / &TId




Select the related word / letters / numbers from the given alternatives:
faT 7Y forehe  Hsiferd wreq / 378 / HET TIH:

RIAHC : CHAIR :: OGNAM : 7

(A) OGNMA
(B) TANGO

(C) MANGO
(D) ANGMO




Find the odd number / word / letter / number pair from the given

alternatives:

feu v faencat @ foww det /

(A) Screw Driver / 4oy
(B) Spanner / 9mr

(C) Plier / tATIL
(D) Knife /=Teh

¢ / 9 / X ST

~
1.



Find the odd number / word / letter / number pair from the given

alternatives:

feu v faee

(A) Paris

(B) Athens
(C) London
(D) New York

KRELEECIWA:

s¢ / U7 / 9T SIe

~
S



Which one of the following responses would be a meaningful order
of the following?

F 9 | =i |1 ST HH ol Teh 37Ul 567 § STHTETT?

1.Chapter 2. Index 3. Bibliography
4. Introduction 5. Preface

1. st 2. g 3. T
4. 9= 5. JEAraH

(A) 2,4,1,3,5
(B) 4,2,5,1,3
(C)5,2,4,1,3
(D) 5,1,4,3,2




A series Is given with one term missing choose the correct alternative
from the given ones that will complete the serles

TH T 98 H 2,31 4@ Sl QU L o 39 Ta1 [ohe]

=i

TMJ, QNL, NON, KPP, ?

(A) JOR
(B) HOR
(C) HQQ
(D) 1QS




A series Is given with one term missing choose the correct alternative
from the given ones that will complete the series:

JGAT H Tk Ua qH 2,31 4@ Sl G L Hoh 39 Fal [ohed

TH;

O

A, CD, GHI, ?, UVWXYZ

(A) LMNP
(B) MNOL
(C) NOPL
(D) MNOP




Find out the wrong number in the series:
ICNIR RN GRS IRCI S

27,81, 1331, 125, 625, 3125

(A) 125
(B) 27
(C) 1331
(D) 81




Find out the wrong number in the series:
ICNIR RN GRS IRCI S

17, 23, 31, 41, 53, 69

(A) 23
(B) 31
(C) 41
(D) 69




If DEVELOPMENT Is written as TNEMDEVELOP then
EVALUATION will be written as-

Ife DEVELOPMENT ! fet@r Siat @ TNEMDEVELOP at

T EVALUATION i I ToiaT SITaTT-

(A) NOTIAEVALU
(B) NOITAULAVE
(C) NOTIEVALUA
(D) NOITEVALUA




If H=8 and HAT=29, find how BOX=?
Ife H=8 3T HAT=29, dI TR BOX=?

(A) 46
(B) 43
(C) 42
(D) 41




Which of the following interchange of sign would make the given
equation correct?

= ¥ 9 19 91 gEaieid deha feam T geieRr g8t giem?
64+-8-9x8=64

(A) + anc
(B) + anc
(C) + and =
(D) - andx




From the given alternatives words, select the word which cannot be
formed usmg the Ietters of the given Word

fu TTU Tl o S1eaT ®, ToU TTU 3165 oh 37T 3T IUFNT ih
forer sTeg ST fmtor 7 foRam ST HekaT 2

PROVINCIALISM

(A) SAILOR
(B) NAIL
(C) MAN
(D) INITIAL




From the given alternatives words, select the word which cannot be
formed using the letters of the given word:

feu U faehedt o T1ear |, AU T4 378€ o T8I a1 SUFNT hich [hH
gTog o7 HHToT Tt foRam ST Eekar B:

DEPARTMENT

(A) ENTER

(B) PARENT
(C) TEMPER
(D) PARADE




From the given alternatives words, select the word which cannot be
formed using the letters of the given word:

feu T4 faenedil o vTeg] ©, U U I16€ oh &I ol SUINT hich Tohd
315 ShT -HTUT Tl ToRaIT ST EehdT =

UNCONTAMINATED

(A) MINE

(B) NATION
(C) CONNOTE
(D) TANDEM




Select the missing number from the given responses:

faT TTT ST © 6 AT hT T

6

8

7

36

o4

49

24

48

35

18

24

?

(A) 17
(B) 18
(C) 19
(D) 21




Select the missing number from the given responses:

faT 7T ST § TIH AT 1 == h.

2 (A) 10
6 (B) 25
7 (C) 30
(D) 40




Select the missing number from the given responses:

faT 7T ST & 6 HE&AT hl T

10 | 22 (A) 2
3 | 4 (B) 4
3 | 11 (C) 6
10 | 2 (D)8




Find out the number of all those people who can speak Tamil and
Telugu?

3T T AN shi HEAT HT 9T TG ST AfeT 3R Al it dehd &7
(A)3

(B) 59

/1)
(C) 21
0) 112 A%
N,




Which of the following number is present only in the circle and the
triangle?

FTTRad €T § € i 1 shadl dd AR R § 1S &7

(A) S
(B) 3
(C) 4
(D) 6




Which one of the following diagrams represents the correct
relationship among society, teacher and student?

= | | i |71 =T 99, R8T 3T 919 & o gt
WWEﬁﬁﬁlm LT 27

9 &

(B)




|dentify the answer figure from which the pieces given in the question
figure has been cut:

3HThid o I H 14T 7T Tohg sl e (hEH SHihgl hIeT 7T &

L ‘LE_

anmnswer Figures

L .----r-.__- | il e | - -]1 _=-'- 4
- = _--- II_. ._I_ .:___—.
i o e 3 el -

MY L=} =0 ()




Which answer figure will complete the pattern in the question figure:
T HEAT H i 9T I H&AT Y ohl I h{:

?

N @
=INE=




Which answer figure will complete the pattern in the question figure:
T AT H i 9T I HGAT Y hl I U

Answer Figurnas

T e




(A) 98, 66, 79, 77 (B) 98, 79, 77, 86
(B) 98, 86, 77, 99 (D) 86,77, 99, 98




